



St. Louis County, Minnesota

Date of Report: 10/8/2025 1:59:36 AM

General Details

Parcel ID: 235-0030-01570 Document: Abstract - 01311740

Document Date: 05/23/2017

Legal Description Details

Plat Name: BALKAN

> Section **Township** Range Lot **Block** 10 20

59

Description: SE 1/4 OF SW 1/4

Taxpayer Details

Taxpayer Name ERICKSON SCOTT and Address: 11245 JOHNSON RD CHISHOLM MN 55719

Owner Details

Owner Name BROWNLEE FORREST BROWNLEE MARA Owner Name

Payable 2025 Tax Summary

2025 - Net Tax \$1,475.00

2025 - Special Assessments \$85.00

\$1,560.00 2025 - Total Tax & Special Assessments

Current Tax Due (as of 10/7/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$780.00	2025 - 2nd Half Tax	\$780.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$780.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$780.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$780.00	2025 - Total Due	\$780.00	

Parcel Details

Property Address: 11245 JOHNSON RD, CHISHOLM MN

School District: 695 Tax Increment District: Property/Homesteader:

Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
204	0 - Non Homestead	\$37,900	\$42,100	\$80,000	\$0	\$0	-			
111	0 - Non Homestead	\$38,600	\$0	\$38,600	\$0	\$0	-			
	Total:	\$76,500	\$42,100	\$118,600	\$0	\$0	1186			





St. Louis County, Minnesota

Date of Report: 10/8/2025 1:59:36 AM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot

ot De	pth:	0.00					
		ot guaranteed to be su gov/webPlatsIframe/fr					yTax@stlouiscountymn.gov.
			Improver	nent 1 De	tails (NEW SF	R)	
lmp	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE 1		1988	48	0	480	-	O - OTHER
	Segment	Story	Width	Length	Area	Found	ation
	BAS	1	20	24	480	FLOATIN	G SLAB
	CN	1	8	10	80	POST ON	GROUND
	Bath Count	Bedroom Cou	nt	Room C	ount	Fireplace Count	HVAC
	0.75 BATH	1 BEDROOM		-		0	CENTRAL, GAS
			Improver	ment 2 De	tails (13X20 S	T)	
lmp	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDING 0 Segment Story			26	0	260	-	-
			Width	Length	Area	Found	ation
	BAS	0	13	20	260	FLOATIN	G SLAB
		lı	nproveme	nt 3 Detai	ils (DET GARA	(GE)	
lmp	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	GARAGE	0	72	0	720	-	DETACHED
	Segment	Story	Width	Length	Area	Found	ation
	BAS	0	24	30	720	POST ON	GROUND
			Improvem	ent 4 Deta	ails (POLE BLI	DG)	
lmp	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
P	OLE BUILDING	0	1,0	56	1,056	-	-
	Segment	Story	Width	Length	Area	Found	ation
	DAC	0	24	11	1.056	DOST ON	CROLIND

			improveme	ent 4 Deta	alis (POLE BLDC	? <i>)</i>	
-	Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	POLE BUILDING	0	1,05	56	1,056	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	0	24	44	1,056	POST ON GF	ROUND
			Improven	nent 5 De	etails (10X16 ST)		

	miprovenient o Detaile (10x110 01)									
I	mprovement Type	Year Built	Main Flo	or Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
S	TORAGE BUILDING	0	160	0	160	-	-			
	Segment	Story	Width	Length	Area	Foundati	on			
	BAS	0	10	16	160	POST ON GR	OUND			
	LT	1	8	10	80	POST ON GR	OUND			





St. Louis County, Minnesota

Date of Report: 10/8/2025 1:59:36 AM

		I	and C Dataila //	CVOO DAIN							
Improvement Type	e Year Built	Improver	nent 6 Details (1	•	Basement Finish	Ctula	Code & Desc.				
Improvement Type BARN	rear Built	Wain Fi		20	basement rinish	Style	- Code & Desc.				
Segmen			Length	Area	Found	lation					
BAS	0	16	20	320	POST ON						
LT	0	10	26	260		POST ON GROUND					
	Improvement 7 Details (11Y15 ST)										
Improvement Type	Improvement 7 Details (11X15 ST) Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Desc.										
STORAGE BUILDIN		Main Fic		65	-	Style	- Code & Desc.				
Segmen					Found	lation					
BAS	1	11	15	165	FOUND						
		lman ray and	mt 0 Dataila /DE	T CADACE)							
Improvement Type	e Year Built	Improveme Main Flo	nt 8 Details (DE	•	Basement Finish	Ctula	Code & Desc.				
Improvement Type GARAGE	1950	38-		34	-	•	ETACHED				
Segmen				Area	Found		LIACILED				
BAS	0	16	24	384	FLOATIN						
LT	0	19	24	456	FLOATIN						
	9	Sales Reported	to the St. Louis	County Aud	litor						
Sale	e Date	ales Reported	Purchase Price	County Auc		RV Number					
	/2021		\$80,000		- Ci	267838					
	/2017		\$48,000			221458					
		As	ssessment Histo	orv							
	Class	7		,	Def	Def					
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity				
Teal	204	\$37,900	\$42.100	\$80,000	\$0	\$0	- Capacity				
2024 Payable 2025	111	\$38,600	\$0	\$38,600	\$0	\$0	-				
2024 1 ayable 2025	Total	\$76,500	\$42,100	\$118,600	\$0	\$0	1,186.00				
	204	\$37,900	\$38,500	\$76,400	\$0	\$0	-				
2023 Payable 2024	111	\$38,600	\$0	\$38,600	\$0	\$0	-				
2023 Payable 2024	Total	\$76,500	\$38,500	\$115,000	\$0	\$0	1,150.00				
	204	\$33,800	\$31,400	\$65,200	\$0	\$0	1,130.00				
2000 Davable 2000	111	\$33,000	\$31,400	\$32,100	\$0	\$0	-				
2022 Payable 2023	Total	\$65,900	\$31,400	\$97,300	\$0	\$0	973.00				
	204		\$28,700	\$59,700	\$0	\$0	373.00				
	111	\$31,000 \$27,800	\$28,700	\$27,800	\$0	\$0					
2021 Payable 2022	Total	\$58,800	\$28,700	\$87,500	\$0	\$0 \$0	875.00				
	Total		<u> </u>		\$ 0	\$0	675.00				
Tax Detail History											
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bu I MV MV		otal Taxable MV				
2024	\$1,353.00	\$85.00	\$1,438.00	\$76,500	\$38,50	00	\$115,000				
2023	\$1,403.00	\$85.00	\$1,488.00	\$65,900	\$31,40	00	\$97,300				
2022	\$1,109.00	\$85.00	\$85.00 \$1,194.00 \$58,800 \$28,70				00 \$87,500				





St. Louis County, Minnesota

Date of Report: 10/8/2025 1:59:36 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.